< WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
TB%‘?S- 10.06.1 tb984gi 4 26-JAN-99

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, 1ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
CMb556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9
CM2350 L123B, L9.3 L105, L9.5 L117, LON CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350

L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

Engines

s 24
42 N “/jﬁ
N, R }E #
Fo= = - 4
3?/" /"1, - 3&\ _..:-_' r:; ,I';a M /
Yo/ g TR Ay /”“5
397" ), g ,/ &ty ’/“ Fol ¥ PR
/;.. - r:.' | "';‘- DG@ //B 29
2 35/ " ) 45 44 7 A
11 */-,":'7 . ’}3
s L)
o L . ™
/ i ': / | /5u F
kTS /'- F‘l‘l-.'/ .l/ B -
au E‘ P ‘I' Ta !'-J \\Eﬂ
29—t e 8
s PR A \zg
43 23
. - a2/’ 51 29— y @;. Y
| W AR
: Y I T 9
8 -
"\ ‘ ‘f 2/ 29 ‘
1 15 @5 -—a9
14 -
N\ , 1 e 5
r ! . /2 *‘
r ﬁ
s ! -
20/ 28 : ""—4:;
19/ . % ;51%*7‘_44
32/ /;
4 1h984gi

SMALL | MEDIUM | LARGE


https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('tb984gi','/rtgraphics/english/parts/tb/9/tb984gi_sm.png');
javascript:swap_img('tb984gi','/rtgraphics/english/parts/tb/9/tb984gi_md.png');
javascript:swap_img('tb984gi','/rtgraphics/english/parts/tb/9/tb984gi_lg.png');

View My Cart

MR - LOCATION, TURBOCHARGER...

TB9468-06 Turbocharger Location
(More)

Engine Family: C Series

Cylinders: 6

Exhaust Outlet Location:

RMSO

Aspiration: Sea Water

Aftercooled

Crossover Routing: Low rear

Oil Supply Routing: Inboard

Exh. Manifold Type: Wet

Intake Cover Provided: Yes

Intake Connection OD (in):

2.5

Turbine Outlet Flange Type:

4 Bolt

Turbo Type: Non-Wastegate

Structure Code: 02 EBM

Requires Air Heater: Yes

Compressor Outlet Flange

Type: Half Marmon

Base Turbo ID17: 3538623

1 Inch Water Supply for Turbo

Cooling

1 145530 O-Ring Seal 1

2 176743 Elbow Hose 1

3 210753 Hose Clamp 1 9/16 -1 1/4 in.




3286494 Air Transfer Pipe 1
4 3008465 | Pipe Plug 1 1/8 NPT
5 3918684 | Air Transfer Pipe 1
6 3865901 Hose Brace 1
7 3866530 Switch Bracket 1
8 3866540 Plain Hose 4
9 3883284 O-Ring Seal 1
10 3897035 Air Intake Connection 1
11 3897162 Oil Cooler Bracket 1
12 3897163 Aftercooler Bracket 1
13 3897639 Air Tube 1
14 3897964 Water Transfer Tube 1
15 || 3900630 gsr’:;ff"” Flange Head Cap 2 M8 X 1.25 X 20
16 || 3902460 gce;:;‘go” Flange Head Cap 4 M10 X 1.50 X 25.
17 || 3903096 ggﬁon Flange Head Cap 4 M8 X 1.25 X 70.
18 || 3903990 gg‘:\‘/ﬁ’o” Flange Head Cap 6 M10 X 1.50 X 20.
19 3906439 Clamping Plate 1
20 | 3910495 ggﬁ‘eﬁon Flange Head Cap 4 M12 X 1.75 X 30.
21 | 3916518 Hexagon Flange Fead Cap 8 | M10X1.50 X 125,
22 | 3918109 nexagon Flange Fead Cap 18 | M8x1.25x25
23 3918483 Aftercooler Bracket 1
3920946 Water Transfer Connection 1
24 3007636 | Expansion Plug 1
25 3920945 | Water Transfer Connection 1
26 3921926 Turbocharger Gasket 1
27 3922670 Air Tube 1
28 3922844 Hose Clamp 2
29 3922849 Hose Clamp 8




3922935

Exhaust Manifold

30 3908092 | Expansion Plug
31 3922423 | Exhaust Manifold
32 3923041 Lock Nut
33 3923060 V Band Clamp Service As 3069053
34 3929108 Intake Air Heater
35 3932063 Exhaust Manifold Gasket
36 3936993 Intake Manifold Cover Gasket
37 3944714 Plain Hose
38 3969988 Connection Gasket
3970799 Check Valve
39 3975684 | O-Ring Seal
40 4933267 || Check Valve Service As 3970799
41 4070139 Intake Manifold Cover
42 4931643 Pipe Plug 1/2 NPT
43 4942580 Elbow Hose
4989471 Aftercooler
44 68241 Zinc Electrode Plug
45 3393717 | He*agon Flange Head Cap M10 x 1.50 x 30
46 3919853 || O-Ring Seal
47 3919856 | Water Transfer Connection
48 4078170 || Aftercooler Core Seal Serviced by Kit 4025341
49 4078413 || Aftercooler Core Serviced by Kit 4025340
50 4989468 || Aftercooler Housing
4990975 Threaded Plug
51 3040817 || O-Ring Seal
52 4990976 || Threaded Plug Service As 4990975



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

